ELECTRONIC JOURNAL OF DIFFERENTIAL EQUATIONS, Vol. **2002**(2002), No. 60, pp. 1–13. ISSN: 1072-6691. URL: http://ejde.math.swt.edu or http://ejde.math.unt.edu ftp ejde.math.swt.edu (login: ftp)

Method of straight lines for a Bingham problem *

Germán Torres & Cristina Turner

Abstract

In this work we develop a method of straight lines for a one-dimensional Bingham problem. A Bingham fluid has viscosity properties that produce a separation into two regions, a rigid zone and a viscous zone. We propose a method of lines with the time as a discrete variable. We prove that the method is well defined, a monotone property, and a convergence theorem. Behavior of the numerical solution and numerical experiments are presented at the end of this work.

1 Introduction

We consider a fluid between two parallel plates. Using the Navier-Stokes equation for the viscous region and Newton's law for the rigid zone, we model the behavior of the system. The boundary that separates the two regions is an unknown that evolves in time. It is one of the most important unknown quantities of the problem. For weak formulations, in variational form, of free boundary problems like the Bingham problem the reader is referred to [6, 7, 11, 12, 13]. Moreover in [14] there is an extensive bibliography about these topics. In [1, 2, 9, 15] there are examples of the implementation of the method of straight lines for free boundary problems.

We recall that fluids in which the shear stress is a multiple of the shear strain called Newtonian fluids. The proportionality coefficient is the viscosity. Other fluids are known as non-Newtonian fluids. Examples of Newtonian fluids are: water, alcohol, benzene, kerosene and glycerine. Examples of non-newtonian fluids are: blood plasma, chocolate, tomato sauce, mustard, mayonnaise, toothpaste, asphalt, some greases and sewage.

Bingham fluids are non-Newtonian fluids and the relation between shear stress τ and shear strain σ is linear. That is,

$$\tau = \tau_0 + \eta \sigma. \tag{1.1}$$

where $\eta > 0$ is the viscosity and $\tau_0 > 0$ is the threshold value.

We assume that the fluid is incompressible, laminar, and with constant density ρ . Fixing the x coordinate along the direction of motion, y the perpendicular

^{*} Mathematics Subject Classifications: 35A40, 35B40, 35R35, 65M20, 65N40.

Key words: Bingham fluid, straight lines, non-newtonian fluids.

^{©2002} Southwest Texas State University.

Submitted December 15, 2001. Published June 21, 2002.

coordinate to the plates, and z the remaining coordinate, we make the following assumptions:

- 1. The pressure gradient, ∇p , is applied in only one direction, that is, $\frac{\partial p}{\partial y} = \frac{\partial p}{\partial z} = 0.$
- 2. The fluid is laminar, that is, the velocities v and w satisfy v = w = 0.
- 3. The non-zero component of the velocity u depends only on time, t, and on the perpendicular position, y, that is, $\frac{\partial u}{\partial z} = \frac{\partial u}{\partial x} = 0$.
- 4. There is no transport of fluid through the free boundary, y = s(t). This is a condition of no deformation, that is, $u_y(s(t), t) = 0 \forall t > 0$.
- 5. The velocity of the fluid u at the walls of the plates is zero. This is an adherence condition.

Using the above hypotheses, we obtain a system of partial differential equation, which we call problem (P). Making a change of variables, we obtain the dimensionless system.

$$u_t - u_{yy} = f(t), \qquad s(t) < y < 1, \ t > 0,$$
 (1.2)

$$u(1,t) = 0, t > 0,$$
 (1.3)

$$u(y,0) = u_0(y),$$
 $s(0) = s_0, \ 0 < s_0 < y < 1,$ (1.4)

$$u_y(s(t), t) = 0, \qquad t > 0,$$
 (1.5)

$$u_t(s(t), t) = f(t) - \frac{\tau_0}{s(t)}, \qquad t > 0.$$
 (1.6)

The problem is similar to a problem of heat transfer, where f is the pressure gradient that, according to the hypotheses, depends only on t. This system is called a free boundary problem because the function y = s(t) is the boundary that separates two regions, and is part of the unknown quantities. We suppose that the pressure gradient is greater than the threshold value τ_0 . This condition allows the movement between the layers of the fluid. That is,

$$f(t) > \tau_0, \quad \forall \ t > 0. \tag{1.7}$$

A more general condition can be imposed instead of a fixed boundary condition (1.3), representing that two distinct fluids are in contact. In this case we can replace (1.3) by the following equation:

$$u(1,t) = g(t), \quad t > 0.$$
 (1.8)

It can be seen that the function g does not cause problems, because we can rewrite the system considering a new function for the pressure gradient. EJDE-2002/60

We transform the problem (P) using the function $w = u_y$. The new problem (Py) satisfies the following equations:

$$w_t - w_{yy} = 0, \qquad s(t) < y < 1, \ t > 0,$$
 (1.9)

$$w_{y}(1,t) = -f(t), \qquad t > 0, \qquad (1.10)$$

$$w_{y}(1,t) = -f(t), \qquad t > 0, \qquad (1.10)$$

$$w(y,0) = u'_{0}(y), \qquad s(0) = s_{0}, \ 0 < s_{0} < y < 1, \qquad (1.11)$$

$$w(y,0) = u'_0(y), \qquad s(0) = s_0, \ 0 < s_0 < y < 1, \tag{1.11}$$

$$w(s(t),t) = 0, t > 0,$$
 (1.12)

$$w_y(s(t),t) = -\frac{\gamma_0}{s(t)}, \qquad t > 0.$$
 (1.13)

2 Straight Lines Method

We discretize the time and choose a fixed time step $\Delta t > 0$. We define:

$$t_n = (n-1)\Delta t, \quad n \in \mathbf{N}.$$

Denoting $w_n(y) = w(y, t_n)$, $f_n = f(t_n)$, $s_n = s(t_n)$ for $n \ge 1$, $q^2 = \frac{1}{\Delta t}$, and approximating time derivatives with the incremental quotient, the (P_y) system is transformed in the (Pd_y) system.

$$w_{n+1}''(y) - q^2 w_{n+1} = -q^2 w_n, \qquad s_{n+1} < y < 1, \quad n \ge 1, \tag{2.2}$$

$$w_{n+1}(s_{n+1}) = 0, \qquad n \ge 1,$$
(2.3)

$$w'_{n+1}(s_{n+1}) = -\frac{r_0}{s_{n+1}}, \qquad n \ge 1,$$
(2.4)

$$w'_{n+1}(1) = -f_{n+1}, \qquad n \ge 1,$$
(2.5)

$$w_1(y) = u'_0(y), \qquad 0 < s_1 < y < 1.$$
 (2.6)

Observe that with this notation, $s_1 = s(t_1) = s(0) = s_0$ and $w_1(y) = w(y, t_1) = w(y, 0) = u'_0(y)$. It is easy to see that (2.2)-(2.4) is a second order differential equation of the form:

$$w'' - q^2 w = g, \quad s < y < 1,$$

$$w(s) = 0,$$

$$w'(s) = -\frac{\tau_0}{s}.$$
(2.7)

Lemma 2.1 The above system is satisfied by

$$w(y) = -\frac{\tau_0}{qs}\sinh(q(y-s)) + \int_s^y \frac{g(\xi)}{q}\sinh(q(y-\xi))d\xi, \quad s < y < 1.$$
(2.8)

Proof We transform this second order differential equation into a first order differential equation system, taking an auxiliary variable v = w'. In this way,

we obtain:

$$\begin{pmatrix} w' \\ v' \end{pmatrix} = A \begin{pmatrix} w \\ v \end{pmatrix} + \begin{pmatrix} 0 \\ g \end{pmatrix}, \quad s < y < 1,$$
$$\begin{pmatrix} w \\ v \end{pmatrix} (s) = \begin{pmatrix} 0 \\ -\frac{\tau_0}{s} \end{pmatrix}.$$

where $A = \begin{pmatrix} 0 & 1 \\ q^2 & 0 \end{pmatrix}$. The matrix A is diagonalizable. In fact, if $P = \begin{pmatrix} 1 & 1 \\ q & -q \end{pmatrix}$ then $PAP^{-1} = \begin{pmatrix} q & 0 \\ 0 & -q \end{pmatrix}$. Thus if $V = P^{-1} \begin{pmatrix} w \\ v \end{pmatrix}$ the we have the uncoupled system

$$V' = \begin{pmatrix} q & 0\\ 0 & -q \end{pmatrix} V + \begin{pmatrix} \frac{g}{2q}\\ -\frac{g}{2q} \end{pmatrix}, \quad s < y < 1$$
$$V(s) = \begin{pmatrix} -\frac{\tau_0}{2qs}\\ \frac{\tau_0}{2qs} \end{pmatrix}.$$

Solving directly the latter system, the lemma follows.

Suppose that w_n and s_n are known. We extend w_n by zero in the interval $[0, s_n]$. In this way w_n is continuous in the interval [0, 1]. The solution of (2.2)-(2.4) for $s_{n+1} < y < 1$ is

$$w_{n+1}(y) = -\frac{\tau_0}{qs_{n+1}}\sinh(q(y-s_{n+1})) - \int_{s_{n+1}}^y qw_n(\xi)\sinh(q(y-\xi))d\xi \,. \quad (2.9)$$

Up to now, the value of s_{n+1} is unknown. We can get s_{n+1} from the equation (2.5). Replacing in (2.9) we obtain:

$$-f_{n+1} = w'_{n+1}(1) = -\frac{\tau_0}{s_{n+1}}\cosh(q(1-s_{n+1})) - \int_{s_{n+1}}^1 q^2 w_n(\xi)\cosh(q(1-\xi))d\xi.$$

Now we define

$$F_{n+1}(s) = f_{n+1} - \frac{\tau_0}{s} \cosh(q(1-s)) - \int_s^1 q^2 w_n(\xi) \cosh(q(1-\xi)) d\xi. \quad (2.10)$$

So, s_{n+1} has to be a root of F_{n+1} in the interval (0,1).

Proposition 2.2 If $f_{n+1} > \tau_0$ then F_{n+1} has at least a root in the interval (0,1).

Proof It is clear that $F_{n+1}(1) = f_{n+1} - \tau_0 > 0$ and also that $F_{n+1}(s) \to -\infty$ when $s \to 0$. So there exists a root in the interval (0,1) because F_{n+1} is continuous.

Proposition 2.3 Suppose that $f_{n+1} > 0$, $w_n \leq 0$, and that we have defined $s_{n+1} \in (0,1)$ that satisfies (2.2)-(2.6). Then $w_{n+1} \leq 0$.

Proof If $y \in [0, s_{n+1}]$, then $w_{n+1}(y) = 0$. Let us think in the interval $[s_{n+1}, 1]$. It can be seen that w_{n+1} decreases locally around s_{n+1} , taking negative values, because of (2.3) and (2.4).

Suppose that w_{n+1} takes positive values in $[s_{n+1}, 1]$. So w_{n+1} has a root in $(s_{n+1}, 1]$. Let y_0 be the first root such that there is a change of sign. Let us take y_1 a point to the right of y_0 such that $w'_{n+1}(y_1) > 0$. The hypothesis says that $w'_{n+1}(1) < 0$. So, there exists a root y_2 of w'_{n+1} in $(y_1, 1)$, such that $w_{n+1}(y_2) > 0$ and $w''_{n+1}(y_2) \le 0$.

Now $q^2 w_n(y_2) = q^2 w_{n+1}(y_2) - w_{n+1}''(y_2) > 0$, that is a contradiction. This concludes the proof.

Lemma 2.4 If A is solution of

$$A'' - q^2 A \ge 0, \quad 0 < s < y < 1, A(s) < 0, \quad A(1) < 0,$$
(2.11)

then $A \leq 0$ in [s, 1].

Proof Suppose that there exists y_0 in (s, 1) such that $A(y_0) > 0$. We can choose y_0 such that $A'(y_0) = 0$, $A(y_0) > 0$ and $A''(y_0) \le 0$. This is a contradiction because $A''(y_0) - q^2 A(y_0) < 0$. This concludes the proof.

Proposition 2.5 Suppose that $f_{n+1} > \tau_0$ and that $w'_n \leq 0$. Then $w'_{n+1} \leq 0$.

Proof If we define $A = w'_{n+1}$, $s = s_{n+1}$, and deriving (2.2)-(2.6), we conclude that A satisfies (2.11), that implies

$$A'' - q^2 A \ge 0, \quad 0 < s < y < 1,$$

$$A(s) = -\frac{\tau_0}{s} < 0, \quad A(1) = -f_{n+1} < 0.$$
(2.12)

By Lemma (2.4) we obtain that $w'_{n+1} \leq 0$. This concludes the proof.

Observation 2.6 The function $h(s) = 1 + sq \tanh(q(1-s))$ is concave and strictly positive in [0, 1] since

$$h''(s) = -2q^{2} \left[1 - \tanh^{2}(q(1-s)) \right] - 2sq^{3} \tanh(q(1-s)) \left[1 - \tanh^{2}(q(1-s)) \right] < 0,$$
(2.13)

and h(0) = 1 = h(1).

Proposition 2.7 If $w_n \leq 0$ and $w'_n \leq 0$, the function F_{n+1} has at most a critical point, that is, there exists at most a point x_0 such that $F'_{n+1}(x_0) = 0$.

Proof From (2.10) we obtain:

$$F'_{n+1}(s) = \frac{\tau_0}{s^2} \cosh(q(1-s)) + \frac{\tau_0 q}{s} \sinh(q(1-s)) + q^2 w_n(s) \cosh(q(1-s)).$$
(2.14)

If F_{n+1} has no critical points, the proposition is proved. Suppose now that there exists at least s_* such that $F'_{n+1}(s_*) = 0$. Clearly $s_* \neq 0$ because $w_n \equiv 0$ in $[0, s_n]$. We multiply by $\frac{s_*^2}{\tau_0 \cosh(q(1-s_*))}$ and we get

$$h(s_*) + \frac{s_*^2 q^2 w_n(s_*)}{\tau_0} = 0.$$
(2.15)

So, the critical point s_* satisfies (2.15). Clearly the function above has a unique root because $s_*^2 q^2 w_n(s_*)/\tau_0$ is negative (and decreasing in $(s_n, 1)$). Since h is concave and positive, we deduce that there exists a unique s_* that holds $F'_{n+1}(s_*) = 0$. This concludes the proof.

Observation 2.8 From Proposition (2.2) and (2.7), we conclude that F_{n+1} has a unique root in (0, 1) if in each step of time holds $w_n \leq 0$ and $w'_n \leq 0$.

Observation 2.9 The process of the algorithm is as follows: since $w_0 = u'_0 \leq 0$ and $w'_0 = u''_0 \leq 0$, using Proposition (2.3) and Proposition (2.5) we get that $w_1 \leq 0$ and $w'_1 \leq 0$; then we have a unique solution of $F_2(s) = 0$, and besides that, $w_2 \leq 0$ and $w'_2 \leq 0$; following inductively, we obtain the movement of the free boundary.

3 Properties of the Straight Lines Method

Proposition 3.1 Suppose that $f_n > \tau_0$ for all n and that $u_0' \leq 0$. Then $w_n \leq 0$ for all $n \geq 1$.

Proof The hypothesis says that $w_1 = u'_0 \leq 0$. Let us assume that $w_n \leq 0$. By Proposition 2.3 we get $w_{n+1} \leq 0$. By induction the proof is concluded. \Box

Proposition 3.2 Suppose that $f_n > \tau_0$ for all n and that $u''_0 \leq 0$. Then $w'_n \leq 0$ for all n.

Proof We know that $w'_1 = u''_0 \leq 0$. Suppose that $w'_n \leq 0$. By Proposition 2.5 we get that $w'_{n+1} \leq 0$. This inductive step concludes the proof.

Proposition 3.3 Suppose that $f_n > \tau_0$ for all n and that $u''_0 \le 0$. Then $w_n < 0$ for all $y \in (s_n, 1]$ for all n > 1.

Proof By Proposition 3.2 we know that $w'_n \leq 0 \forall n$. Because of $w_n(s_n) = 0$ and $w'_n(s_n) = -\frac{\tau_0}{s_n} < 0$. Then $w_n(y)$ is strictly decreasing in a neighborhood of s_n , then $w_n < 0$ in $(s_n, 1]$. This concludes the proof.

Proposition 3.4 The stationary solution of Problem (Py) (2.2)-(2.6) is

$$s_{\infty} = \frac{\tau_0}{f_{\infty}}, \quad w_{\infty}(y) = \begin{cases} -f_{\infty}(y - s_{\infty}) & \text{if } y \in [s_{\infty}, 1] \\ 0 & \text{if } y \in [0, s_{\infty}) \end{cases}$$
(3.1)

where $s_{\infty} = \lim_{n \to \infty} s_n$, $w_{\infty}(y) = \lim_{n \to \infty} w_n(y)$ and $f_{\infty} = \lim_{n \to \infty} f_n$, if the limits exist.

Proof If we take $\lim_{n\to\infty}$ in (2.2)-(2.6) we can get the system

$$w_{\infty}'' = 0, \quad \text{in} \quad [s_{\infty}, 1],$$

$$w_{\infty}(s_{\infty}) = 0,$$

$$w_{\infty}'(s_{\infty}) = -\frac{\tau_0}{s_{\infty}},$$

$$w_{\infty}'(1) = -f_{\infty}.$$

(3.2)

Since w'_{∞} is constant, then $w'_{\infty}(s_{\infty}) = w'_{\infty}(1)$. That implies $s_{\infty} = \frac{\tau_0}{f_{\infty}}$. Since w_{∞} is a straight line with slope $-f_{\infty}$ and root s_{∞} , then we have $w_{\infty}(y) = -f_{\infty}(y - s_{\infty})$ in the interval $[s_{\infty}, 1]$. If $y \in [0, s_{\infty})$, then there exists $N \in \mathbf{N}$ such that $y \in [0, s_n]$ for all $n \geq N$. This said $w_n(y) = 0$ for all $n \geq N$. This is equivalent to $w_{\infty}(y) = 0$ in $[0, s_{\infty}]$. This concludes the proof. \Box

Lemma 3.5 If W is a solution of

$$W'' - q^2 W \ge 0, \quad 0 < s < y < 1, W(s) < 0, \quad W'(1) < 0,$$
(3.3)

then $W \leq 0$ on [s, 1].

Proof Suppose that W takes positive values. Since W(s) < 0 there exists $y_0 \in (s, 1]$ such that $W(y_0) = 0$. Now we can choose $y_1 \in (y_0, 1)$ such that $W(y_1) > 0$ and $W'(y_1) > 0$. Since W'(1) < 0 there exists $y_2 \in (y_1, 1)$ such that $W'(y_2) = 0$. We can choose y_2 such that $W(y_2) > 0$ and $W''(y_2) \le 0$. This is a contradiction because $W''(y_2) \ge q^2 W(y_2) > 0$. This concludes the proof. \Box

Lemma 3.6 If V is solution of

$$V''(y) \le 0, \quad 0 < s < y < 1, V(s) \ge 0, \quad V'(1) \ge 0,$$
(3.4)

then $V \geq 0$ in [s, 1].

Proof Suppose that V assumes negative values in (s, 1]. There exists $y_0 \in (s, 1]$ such that $V'(y_0) < 0$. Since $V'' \leq 0$ we obtain V'(1) < 0, and this is a contradiction. The proof is finished.

Theorem 3.7 Suppose $f_{n+1} > 0$ for all n and $u_0'' \le 0$. Then:

- (A) If $f_{n+1} > f_n$ and $w_n \le w_{n-1}$ then $s_{n+1} < s_n$ and $w_{n+1} \le w_n$. Moreover, if $\{f_{n+1}\}$ is a strictly increasing sequence convergent to f_∞ then $s_{n+1} > \frac{\tau_0}{f_{n+1}}$, $s_\infty < s_{n+1}$ and $w_\infty \le w_{n+1}$.
- (B) If $f_{n+1} < f_n$ and $w_n \ge w_{n-1}$ then $s_{n+1} > s_n$ and $w_{n+1} \ge w_n$. Moreover, if $\{f_{n+1}\}$ is a strictly decreasing sequence convergent to f_∞ then $s_{n+1} < \frac{\tau_0}{f_{n+1}}$, $s_\infty > s_{n+1}$ and $w_\infty \ge w_{n+1}$.

Proof From the expression of F_n in (2.10) we have

$$F_{n+1}(s) - F_n(s) = -\int_s^1 q^2 \left(w_n(\xi) - w_{n-1}(\xi) \right) \cosh\left(q(1-\xi)\right) d\xi + (f_{n+1} - f_n).$$
(3.5)

For part (A), since $f_{n+1} > f_n$ and $w_n \le w_{n-1}$, we see from (3.5) that $F_{n+1}(s) - F_n(s) > 0$ for all s. From this we deduce that $s_{n+1} < s_n$.

Let $W = w_{n+1} - w_n$. Then from (2.2)-(2.6), we see that on $[s_n, 1]$, W satisfies

$$W'' - q^2 W = -q^2 (w_n - w_{n-1}) \ge 0$$

$$W(s_n) = w_{n+1}(s_n) < 0,$$

$$W'(1) = -(f_{n+1} - f_n) < 0.$$

Therefore, on the interval $[s_n, 1]$, W satisfies

$$W'' - q^2 W \ge 0, \quad W(s_n) < 0, \quad W'(1) < 0.$$
 (3.6)

and out this interval, W satisfies

$$W(y) = \begin{cases} 0, & \text{if } y \in [0, s_{n+1}], \\ w_{n+1}(y), & \text{if } y \in [s_{n+1}, s_n], \end{cases}$$

Knowing that the w_{n+1} are negative functions on (s_{n+1}, s_n) (Proposition 3.3), and using the Lemma 3.5, we observe that $W \leq 0$ on $[s_{n+1}, 1]$ finally $W \leq 0$ on [0, 1], and this is equivalent to $w_{n+1} \leq w_n$.

When we integrate the equation (2.2) from s_{n+1} to 1, using (2.4),(2.5) we obtain:

$$\int_{s_{n+1}}^{1} w_{n+1}''(\xi) d\xi = \int_{s_{n+1}}^{1} q^2 \left(w_{n+1}(\xi) - w_n(\xi) \right) d\xi,$$
$$w_{n+1}'(1) - w_{n+1}'(s_{n+1}) = q^2 \int_{s_{n+1}}^{s_n} w_{n+1}(\xi) d\xi + \int_{s_n}^{1} q^2 \left(w_{n+1} - w_n \right) (\xi) d\xi < 0,$$

EJDE-2002/60

$$-f_{n+1} + \frac{\tau_0}{s_{n+1}} < 0.$$

From this we deduce that $s_{n+1} > \tau_0/f_{n+1}$. Since $f_{n+1} < f_\infty$ and $s_{n+1} > \tau_0/f_{n+1}$. $\tau_0/f_{n+1} > \tau_0/f_\infty = s_\infty$, it follows that $s_{n+1} > s_\infty$.

Let $V_{n+1} = w_{n+1} - w_{\infty}$ be. Using (2.2) and the Proposition (3.4), the following equation holds on $(s_{n+1}, 1)$,

$$V_{n+1}'' - q^2 V_{n+1} = -q^2 V_n. ag{3.7}$$

Then is clear that

$$V_{n+1}'' = q^2(w_{n+1} - w_n) \le 0, \quad \text{in } (s_{n+1}, 1),$$

$$V_{n+1}(s_{n+1}) = w_{n+1}(s_{n+1}) - w_{\infty}(s_{n+1}) > 0,$$

$$V_{n+1}'(s_{n+1}) = -\frac{\tau_0}{s_{n+1}} + \frac{\tau_0}{s_{\infty}} > 0,$$

$$V_{n+1}'(1) = -f_{n+1} + f_{\infty} > 0.$$

Therefore, on the interval $[0, s_{\infty}]$, V satisfies

$$V_{n+1}^{\prime\prime} \le 0, \quad V_{n+1}(s_{n+1}) > 0, \quad V_{n+1}^{\prime}(s_{n+1}) > 0, \quad V_{n+1}^{\prime}(1) > 0.$$
 (3.8)

and out of this interval, V satisfies

$$V_{n+1}(y) = \begin{cases} 0, & \text{if } y \in [0, s_{\infty}], \\ -w_{\infty}(y), & \text{if } y \in [s_{\infty}, s_{n+1}]. \end{cases}$$

Because of Lemma 3.6 we get that $V_{n+1} \ge 0$ on [0, 1], and this is equivalent to $w_{n+1} \ge w_{\infty}$ The proc

The proof of part (B) is similar to (A) and we omit it.
$$\Box$$

Theorem 3.8 Suppose that $\lim_{n\to\infty} f_n = f_{\infty}$, $f_n > 0 \ \forall n, u'_0 \le 0, u''_0 \le 0$, $\lim_{n\to\infty} s_n = s^*$ and $\lim_{n\to\infty} w_n = w^*$. Then $s^* = s_{\infty}$ and $w^* = w_{\infty}$.

Proof From Theorem 3.7 we can take $\lim_{n\to\infty}$ in (2.9) and we obtain:

$$w^* = -\frac{\tau_0}{qs^*} \sinh(q(y-s^*)) - \int_{s^*}^y qw^*(\xi) \sinh(q(y-\xi))d\xi.$$
(3.9)

Computing the derivatives of the function w^* we get that

$$w^{*''}(y) = 0, \quad w^{*'}(s^*) = -\frac{\tau_0}{s^*}, \quad w^*(s^*) = 0.$$
 (3.10)

On the other hand, if we differentiate (2.9) for $s_{n+1} < y < 1$, we have

$$w_{n+1}'(y) = -\frac{\tau_0}{s_{n+1}}\cosh(q(y-s_{n+1})) - \int_{s_{n+1}}^y q^2 w_n(\xi)\cosh(q(y-\xi))d\xi \,. \tag{3.11}$$

Taking $\lim_{n\to\infty}$ we get:

$$\lim_{n \to \infty} w'_{n+1}(y) = -\frac{\tau_0}{s^*} \cosh(q(y-s^*)) - \int_{s^*}^y q^2 w^*(\xi) \cosh(q(y-\xi)) d\xi. \quad (3.12)$$

From (3.9) and (3.16) we obtain that $\lim_{n\to\infty} w'_n(y) = w^{*'}(y)$. Then $w^{*'}(1) = \lim_{n\to\infty} w'_{n+1}(1) = -\lim_{n\to\infty} f_{n+1} = -f_{\infty}$. Since $w^{*'}$ is constant, we deduce that $w^{*'}(1) = w^{*'}(s^*)$. Then

$$s^* = \frac{\tau_0}{f_\infty}, \quad w^* = -\frac{\tau_0}{s^*}(y - s^*).$$

A comparison with Proposition 3.4 completes this proof.

Observation 3.9 Under the hypotheses of Theorem 3.7, the solutions s_n and w_n converge to the stationary solutions, s_{∞}, w_{∞} .



Figure 1: Solution with $s_0 = 0.2, \tau_0 = 1, \Delta t = 0.05, f(t) = 2$

Numerical Results

The algorithm for the following results was programmed in Fortran. First we compute the root of F_{n+1} , and then we compute w_{n+1} from (2.9). The functions w_n are stored as splines functions and the integrals are computed by the Simpson's Rule. The numerical experiments are shown in Figures 1, 2, and 3. They show that the algorithm reproduces the theoretical behavior of the solution (see [3]).

10



Figure 2: Solution with $s_0 = 0.8$, $\tau_0 = 1$, $\Delta t = 0.05$, f(t) = 2.

Concluding Remarks

For the discrete solution of (2.2) - (2.6), we have obtained the same properties that the continuous solution of Problem (Py) satisfies (see [3]). That is $w_n(y) < 0, w'_n(y) < 0, \{s_n\}_n$ is monotone if $\{f_n\}_n$ is monotone, the stationary solution for the discrete problem (which agrees with the stationary solution for the continuous problem) is established, and the discrete solution converges to the stationary solution. Moreover the algorithm is well defined for all f_n that satisfy $f_n > \tau_0$. This condition is the corresponds to the motion between the layers of the fluid.

References

- BACHELIS R.D. & MELANED V.G., Solution by the straight line method of a quasi linear two phase problem of the Stefan type with weak constraints on the input data of the problem, USSR Comput.Maths.Math.Phys., 12 (1972), pp.342-343.
- [2] BACHELIS R.D. & MELAMED V.G. & SHLYAIFER D.B., Solution of Stefan's problem by the method of straight lines, USSR Comput. Maths. Math. Phys., 9 (1969), pp.113-126.
- [3] COMPARINI E., A One Dimensional Bingham Flow, Journal of Mathematical Analysis and its Applications, 1992, 127-139.
- [4] CRANK J., Free and Moving Boundary Problems, Claredon Press, Oxford (1984).



Figure 3: Solution with $s_0 = 0.8$, $\tau_0 = 1$, $\Delta t = 0.05$, f(t) = 2 + t

- [5] DOUGLAS J., JR. & GALLIE T. M., JR., On the Numerical Integration of a Parabolic Equation Subject to a Moving Boundary Condition, Duke Math. J., 22 (1955), pp. 557-571.
- [6] DUVAUT G. & LIONS J. L., Inequalities in Mechanics and Physics, vol. 219, Springer Verlag, 1976.
- [7] GLOWINKY-LIONS TREMOLIERES, Analyse Numerique des Inequalities Variationales, vol. 1,2, Dumond, 1976.
- [8] GUPTA R. S. & KUMAR D., Variable Time Step Methods for One-Dimensional Stefan Problem with Mixed Boundary Condition, Int. J. Heat Mass Transfer., vol 24, pp. 251-259, 1981.
- [9] MARTINEZ V. & MARQUINA A. & DONAT R., Shooting methods for one dimensional diffusion absorption problems, SIAM J. Numer. Anal., 31 (1994), pp. 572-589.
- [10] MURRAY W. D. & LANDIS F., Numerical and Machine Solutions of Transient Heat-Conduction Problems Involving Melting or Freezing, J. Heat Transfer. 81C, pp. 106-112, 1959.
- [11] PRIMICERIO M., Problemi di Diffusione a Frontiera Libera, Bolletino U.M.I. (5) 18-A (1981), pp. 11-68.
- [12] RUBINSTEIN L.I., The Stefan Problem, Trans. Math. Monographs-vol. 27, Amer. Math. Soc., Providence 1971.

- [13] TARZIA D. A., Introducción a las Inecuaciones Variacionales Elípticas y sus Aplicaciones a los Problemas de Frontera Libre, CLAMI, 1981.
- [14] TARZIA D., A Bibliography on Moving-Free Boundary Problems for the Heat-Diffusion Equation. The Stefan and Related Problems, MAT - Serie A, 2 (2000).
- [15] VASIL'EV F.P., The method of straight lines for the solution of a one-phase problem of the Stefan type, USSR. Comput. Maths. Math. Phys., 8 (1968), pp.81-101.

Germán Torres

Fa.M.A.F. Universidad Nacional de Córdoba - CIEM-CONICET Medina Allende s/n Córdoba (5000), Argentina e-mail: torres@mate.uncor.edu

Cristina Turner

Fa.M.A.F. Universidad Nacional de Córdoba - CIEM-CONICET Medina Allende s/n Córdoba (5000), Argentina e-mail: turner@mate.uncor.edu